p

i 5 £

N

F A5 B OE B M A
— 2 T M

mﬁ&&



TS EERE 6
TS AR ER A R T

S5 BRI FEBEGO—RESHO THEIL, RICED L L ZAICL 5,

(AR T 5)
F1R BARHTEOREIL., AL ENZNS551,660TMHEED D,
2 WMARHTREOFEORGROEHR SO, [F1E BARHT
BTk a,
(G T B o)
F25k MEFBIREFE2 208F2EAELEORATCICLVSHTEODREDORE
DEFELERATHENTEDLHRAIE. ROLEBY EED S,
BIEICH E Lok, BETUSLORERICRS PEBEICBREL AL
BEIZBITDFR—FNTO D DOREDOXIEDM O

STFSE2H 20 A8

BN T iR
EEE KRR HE R



F1R BARLTE

A \

(A T-F)

5 H b
15 AR O A RS 511,637
1 £ 8 S 511,637
o fE R R OV R 27,784
1 i i £t 27,775
2 F %% Kt 9
3E I A 1
LB BE E R I A 1
5 i e 4 12,030
1 4 i & 12,030
62 2 A 208
| 2 A 208
% A A F 551,660




(B TH)

b 18 R =
1% = -4 1,509
1 &% = =4 1,509
2 & ¥ =4 01,428
1w B & B & 01,285
28 A % B # 143
3 A4 k=4 488,723
1 & & £ % 196,138
215 i o 292,585
57T fi -4 10,000
i 1 i< 10,000
wo o & F 551,660




ES 53 N (TR} VAN I
G T G -~ = W= 339,476 335,476
tEaxREEEEREASES 12,672,111 16,572,948
KELEEEERAHES 41,808,670 54,678,569
LIRS EE & & HEE 95,705,973 137,272,628

i 110,522,230 208,859,621




(BANZ: )

H B i Koo\ H ®o= & 5 F
339,476 201,286 201,286 1,409,000
8,998,127 2,082,601 7,152,213 50,978,000
29,687,217 18,418,487 23,597,057 168,190,000
34,752,564 10,807,058 02,021,777 291,060,000
13,773,384 35,009,432 83,472,333 011,637,000




VAN s B S = R I I

==

=

L# I
(BA)
# AEETHE | WEET R O
1 &R CAEHE 011,637 005,205 6,432
2 1 MR R ONF 2okt 27,784 27,441 343
3 oE I A 1 0 1
5 ey & 12,030 14,244 A 2,214
6 & X A 208 149 09
m AN & Ft 001,660 047,039 4,621




(BA7:TH)
KEETHRBEOMENR
E= AEETHEAMEETEE b B ¥E MR R
EREme| #5EE [ ZoM AT
1% =& & 1,509 1,691 A\ 182 1,509
2% B & 51,428 49,992 1,436 51,428
3 4+ & | 488,723 | 484,360 4,363 27,785 460,938
57 F & 10,000 10,996 A\ 996 10,000
& FF | 551,660 | 547,039 4,621 27,785 523,875




A e N O EEE

=it
H AT EER £ EAE H
& 511,637 505,205 6,432
3 511,637 505,205 6,432
2 ZfE R O ER 15
E AREEE TR HITAE P E4E L%
O E I 5t 27,775 27,435 340
27,775 27,435 340




(HEAL: 1)

X5 - %A : !
| el R 1,409
5 oA
2 #ﬁﬁié@ﬁ 50,978
3 gﬁﬁi%@ﬁ 168,190
4 %ﬁ%ﬁ’gﬁ% 291,060
/
(BN FH)
i .,
<5 o1 ” 7
1 {5 A o P 27,762 KFEIFE 18,530
IR AR 2,805
15 R AR 19
A EM AR 3,653
TLEM AR 32
T S FH Rk 2,716
KEEGATE A E B B9 oM E 7

2 TR tm R

13

LR ALBE TR PE F A FR R




23K SEABH R ONFEECEE 2 PR

H AT A BIT4F i 7 4 JE
1 & A& F #H E 9 6
2 9 6
3K IR 13 SR
H AR T BIT4F 1 B R
1 B I A 1 0
at 1 0 !
5K K4 1E S
H AR T B 4E B4R B T B4R oo#g
) il & 12,030 14,244 A 2,214
7 12,030 14,244 A 2,214

_10_




(B2 T-M)

& .
— = g
| (e A KA PR T T RORH
(sfir : 1)
al 3 B

X5y

| ATBUM IR
A

A B IR TE AR BT R AT

_11_




H AT R GRS Sigl =¥ o
1 M 208 149 59
&P 208 149 29
B A A 551,660 047,039 4,621

_12_



(BAz: FH)

ES) PR "
1 HEA 20
KEFGFHIEMEN 176
URALERSG SN 12

(BAz: T-H)




R mRaE 1 HH BB
A EE O M BFEARNR
RS TRENEETEE k| % & B B s
— — X B4R
ER L HH1E | 2o
s # 1,509 1,691 A 182 1,509
1,509 1,691 A 182 1,509

_14_



(BAL:FH)

Hi
G 5
B &

1 A 1,062 A=

5 KEHIEE 1 KEMERE

9 RCBRE 80 e SRR
10 FFH % 14 {HFES
12 ZFee 352 SR OUT LR EFER)

_15_




&

2K WEE 1 TH 5 E

Eal

K EE o MR AN R

g e L I I I
ERXH4| #O5E | Fofh e
1 —fREHE 51,285 49,851 1,434 51,285

_16_.



(B2 TH)

J=ll N
S & *

| SR 20 égi EAEE ENIF IR RS T

2 fakt 10,925 — M IRE

SHEFYSE 6,974 HIEF 656
BEFY 659
RIS 075 T4 500
HIR 8hil =4 4,070
AR F Y 1,089

4 HLFEE 3,489 B4 718
oix -t 151
B R R A A 2,017
BEE &4 113
e R A4 19
e 35
EEE 37
BB NG K EMELESAHE 76
AR 247
TEH T E T4 11
TR IR 65

_17_




A FE o WM JE AN R

B E W IR EHE

ERZ 4| HOTE | FOMm




(BN FH)

X o & * i

5 KEMIE 1 SEME

T HEE 132 g L#AfL &

8 20 e R

9 2ZBRE 100 B AR

10 FH# 1,133 {HFE & 667
PR 92
RIBE 5
EwE R 369

11 &BE 802 WS 481
FHokk 99
PR 222

12 Z5tek 2,168 VPR A SRR LR 32
T AL FER 122
— R GERERZ Wr ZEeR 86
SAT DRSFZERER) 911
FEAR PR ST AR R} 60
;ﬂ%ﬁ?~&v2?bﬁ%’é?#%fﬁéﬁf 917

_19_




23K wBE

1 T8 ReEeHE
K E E O M JE AN R
15 E AR FE T A | AT TR o WM R i
- —y — % B YR
EREH4e! #51E | FOM
5 51,285 49,851 51,285
2 K QI A LZEE
KAE E © Bf JE AN R
H R FEE - KR | AR T R ¥OE M K b
= — AR
ERZHE| 51 | Z O
T FH Fr|  FH TH
1 EEREEEE 141 143
3t 141 143

_20._.



(BEAZ: M)

i
B A
X 4y & H
R— L= RSP E LR EE ) 40
NI > ALs
13 gﬁﬂ KOS 2477 RS R 1,519
FLEE (R 15
TR Il O Sl | 43
TX 2T A RPR S AT LME B 167
ST A 2 B 40
MBS AT LT A A HE 693
/% B& : s SER sl B GA
18 U%ﬁiﬁﬂm 93.033 IR B 16 52 B 4 (2 4)) 99,425
VAT LB E 608
B R O o
21 g@}zﬁ;@ 2230 1 PRERHE 4
(BAr 1)
= )
] A
X 4 & '
=
1 133 RS T B N
10 EHE 10 MEFSTRTE ¢

_21_




3K WHER 1 5 R EE

K AEE O WM B N R

g AFTREAEE RS o B B E MW |0
R LA M E] F o]

i = El

% gé; %’7 g 196,138 185,666 10,472 27,772 168,366

_22_



(ELf7: FH)

X & % " 7

1 #H 108 INED IR ZE B R 108

2 Fakt 8,900 — A

SBEF Y% 10,218 Hite 24 576
HREFY 696
WY 291
RFFIS DS Y 400
MR Eh T4 3,780
BTy 4,475

4 ILER 3,073 W AEE 632
IrigaEe 133
JEA R B IRR A L 2,115
BBREFEeAEe 119
PR R A e 19
PrlEft#R 30
873 25

8 k& 30 i 30

0 FHAE 69,167 THAE 925
ST ¢ 23,708
X = 77

_23_




3 WAE 1 IE R EE

K EE oM E AN R

KEETRE MEE TEE| b i o' WK AR
X = N

7

B & & | # 5| E o

_24._



(HAL:T-M)

— 5 9
FI i) A 2 295
Stk 18,000
fEHER 26,162
11 R B R 227
= Hict 379
PR 139
12 Z3EH RS R 7,762
FESi LT C s
B LETR
BRI AR TR 234
B AR e Z 304
S T R AR R TR 1,035
TR S AR R 2,867
G LA T 270 1,479
BEASEHER  FEE R 5,181
S RRAEER 106
KIS T TR 60,720
155 8 R 1,833
AR SRR 1,130
O RST SR ZER 297

._25__




3K AR

1 I8 (R R

A E FE o B JE N R
g AEE TR FEEYEE| b & ¥ O OF M R L ERE
RG] Zom]|

& 196,138 185,666 10,472 27,7721 168,366

...26_



(BA7: M)

=] .
x5 & = = 7

= B ERZ TR 50

13 ARR O 940 FLLR(ER 57
HEHE AR E LR 238
H iﬁﬁﬁﬁ*ﬂr% 15
Ty 7 EME R 224
AED{E L} 53
BT RIS AT It — |} 135
A B =2 MR R 218

14 THEas 2,805 A B Rk — ke T 2,585
LANEHR T3 220

17 g AE 40 T miE A&

18 }i;%gﬁﬁb&@ 15,145 R R 25444 5,717
IREME M GEAEE (1L AD) 9,420
Bhok B B ikl e e 8

21 gg@g&m% 1,501 etz [ g ) B 1,500
BERES 1

26 NFRE 25 SRR =vinl

_27__




3K mERE 2 H JHfm

AAEBE oM JE RN R
KRR T R T W % E M B .
EREme|HUGE] 2o |
L3
%@”7 992,585 298,694 A 6,109 13| 292572

_.28_



(EA7:TH)

] )
X 4 & A & v
1 B 192 INERL IEZ &
6,654 — A
3 BB F4H% 13,379 EHEREY 572
Hia =4 434
HE)FY 75
HIRE M TF Y 2,382
BTy 9,916
k2 1,995 SH A H e 444
rEaEe 94
JEAFESRRAHEE 1,092
D1 o =K = 61
FRIE Y A 4 10
R f ik B 22
T 25
ERE S e 236
FE B L 4 11
279 e e 201
EEFiii= 12
E H 518 66

_29_




S ¢ 2 T8 T in

KAEE O M JFE N R
H AAEEE PRA| NTEE TR b B e oE MR R
En e &l Fom | 00T
= 9292585 298,694 A 6,109 13| 292,572

_30_




(BEAZ: TH)

BN
7]
S & FA

10 ZH 2 62 LB 50
BrEE 6

12 ZEekt 234,099 TERD S K DMLy 22t k) 8,430
WK T5 Je i 225t 15,613
SRy U 45,870
LB el &3tk 1,078
UIETB IRy 58t 2,728
E?ﬁ@%%@@ﬁ%ﬁ%é?ﬁ 160,380

13 AR USRI 64 ) B o 48
B EHE Fk) 16

14 THEaHE 12,932 S e 12,932

18 im0 gse|  mmca st 6,559
Y FHT X 15
HEMRERESEES 230
%%JHE}%@M?‘/&“—@\{Q 14,085

21 Eﬁ*ﬁiﬁ&@% 2,001 B XS 1) 2 2,000
BEKES 1

26 /AHRE 39 5 Y T R

_31_




5K TlW#E [ ¢

K HEE OB E RN R
g AELTRE I TEE L g [ B ' B R oo
Erxme|H FE] zom | 7T
1 ¥ H & 10,000 10,996 A\ 996 10,000
B 10,000 10,996 A\ 996 10,000
AR 551,660 547,039 4,621 27,7851 523,875

_32_




(A7 T1)

i %
X4 &
10,000 et B T 1,000
KIEBTET B 3,000
URALER S T 2 6,000
(i )

_33_




